—— A
N = 0] &F AF S & AN A
20148 = 20 A LB H A& NS
EX: A4 ns
HE: sEEAG KR
Sel: xst+ el (S &2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
AL DNE N 21,358,129 21,786,631 N 428,502
2 4,843,000
= 20,000
= 855,029
= 15,640,100
SsE=E&Es N 11,330,968 8,543,336 2,787,632
2 4,693,000
= 20,000
= 389,300
= 6,228,668
Xl ot =2t 2] 36,968 56,736 N 19,768
& 7,800
= 29,168
Koty =22 &2 19,108 38,876 N 19,768
201 et d| 9,108 4,508 4,600
02 224 H| 9,108 4,508 4,600
OXole EX2=2 HAM=2U2
8,000 x12& 23 & 2,208
OXolse EX 2= AADEH S22
300,000 *23H 2~ 6,900
401 A& HI L 2 0HHI 10,000 34,368 AN 24,368
01 Al&H| 10,000 34,000 A 24,000
OYXZE |Fa=s3 2,000,000& *5JH A 10,000
DHEZ XN Xot=22l9ds 89 1,260 1,260 0
201 Bt 1,260 1,260 0
01 AP 22| H| 1,260 1,260 0
o2d9s¢ 1,260
Oz XNEXot=2AE G
70,000 «9H «23] 1,260
Xotse OIAE A 29 15,600 15,600 0
& 7,800
= 7,800
401 AlEHIZL £ 0HY| 15,600 15,600 0
& 7,800
= 7,800
01 Al& H| 15,600 15,600 0
OXots OlZAE A <
15,600, 000 = 1Al 15,600
& 7,800
o 7,800
AL8WE 28 X 1,000 1,000 0
203 € R F & 1,000 1,000 0
03 AIEH =X H 2 F X Y| 1,000 1,000 0




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz 2 ALY ¥2=d Ad
200,000& *52] 1,000
=74 2tel 5,000 5,000 0
=S MHe 22 5,000 5,000 0
201 ¢er24] 5,000 5,000 0
01 At 2t 2l 5,000 5,000 0
ORTRWY =, 2Y4+42
1,000,000& *53] 5,000
S A EHE I 4,926,000 4,031,600 894,400
= 853,000
=2 20,000
< 87,000
s 3,966,000
JAHBHZ & E 647,000 951,600 A 304,600
= 453,000
< 57,000
s 137,000
401 Al HI K 201 I 497,000 601,600 A 104,600
& 348,000
< 44,000
[ia 105,000
01 A& Bl 497,000 601,600 A 104,600
OJIHs 3&=Z &2 F 497,000, 0003 * 14! 497,000
& 348,000
< 44,000
i 105,000
403 MtXISHH S0l & 150,000 350,000 A 200,000
& 105,000
= 13,000
e 32,000
02 3|23 0l CHSHCH 2 At & HI 150,000 350,000 A200,000
OJ|Hst 2X=Z EHELI(E)
150,000, 000& * 14 150,000
& 105,000
< 13,000
[ia 32,000
A2 2SI Al E FHI 3,700,000 2,175,000 1,525,000
201 Let24E] 35,000 35,000 0
01 At 22l 5,000 5,000 0
OsgYIIBANIE 2=+ FHEXUE
5,000,000 =14 5,000
02 =224l 30,000 30,000 0
02322 ¥ HAl 10,000,000 * 14! 10,000
O A& EHl s Xl 20,000,000& =14 20,000
401 A& HIZ 201 I 3,665,000 2,140,000 1,525,000




2N
X ZH -
L= B

el

B O (S0) - NRAY - HES 0l &+ o4 il
01 A& bl 3,665,000 2,140,000

O=gJIIBAEEH (2,812 &) 1,805,000
O&AOtE =2 HHISAt 40,000
O0l= 2 1N+ s L 3A 25,000
O=4aXF =2 FHA 30,000
ONENSE s2ZEZAM 30,000
Og& (ML) =2 HUISA 30,000
O230ts 82 HEFSAM 30,000
Ooss0tg == A4 FHISA 10,000
Os&E1I7 s2XZF3AM 25,000
O2Cits sZ2ZE3A 25,000
O+ Eth==2 HUISAt 30,000
OEHHOtE sZ2EZH3A 25,000
OCEsXN+ =2 FHIAMY 25,000
fEXNF =s=2FHIAMZ 10,000
OHEFX T =YIIBHAIE EHI 25,000
OFE(EI)XNF =2 FHIAY 25,000
OHI=X 7 sYIIBAIE &I 25,000
O=F0IX+ =IIBtAIZ EH| 25,000
Ouzits sZ2ZE3A 20,000
O2its s2XZFSAM 20,000
OCEEXNT sZ2ZEZH3AM 20,000
OF=s0ts =sZ2ZFHIBA 30,000
O=d0ts Etl=2 ZHISA 40,000
OXNEXT S22 FHI S A 30,000
O2MOtES =ZIIBtAI&E &I 25,000
OMETX T =IIBHAIE EHI 25,000
O&3X+ sIIBtAIZEH| 20,000
Odt¥Y =2 WIS WAL 20,000
Oz0I0tES SYIIBtAIZ EH| 15,000
S40s €32 ALY 20,000
OFHOts sZ2EZE3AM 35,000
Ogaitg st~ ddlAd 20,000
OHslts s2EZFAY 25,000
O4sits s=2ZEAMZ 20,000
OXt20tS =2 EHISAt 20,000
OW& X+ €82 EXAY 10,000
O=Z2X+ 22 HEFSA 15,000
OMEXNT =2 ELZEHIAM 90,000
Odlelits sYJIBtAIE E | 25,000
OT&EXN T =ZIIBtAIEE I 25,000
O X+ Stl=2 EHISA 30,000
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EX: A4 ns
¥ sEEs X8
Sl S A B (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Odl= X+ Stoll T 28 A 30,000
OF0IAI T SHoll CH 2 AFS 30,000
OOFE X7 SHoll CH=H AL 20,000
OY AT SHoll CH 2 AFS 40,000
OZXFOI Xl 2 SHoll CH 24 A 40,000
O SK T SHoll CH 2 AFS 40,000
OS ™A T Stoll T 2 AFS 40,000
O & X+ SHoll CH 28 AFS 40,000
OS2 X7 Stoll L 2 ALY 40,000
OKXIS2 X7 SHoll T 28 A 40,000
O22X 7 Stoll L2 AL 40,000
(OEE=PNRE=DNET 5,000,000% 109K 2~ 50,000
O8Y HNELAY 25,000,000 =4l 2~ 100,000
OYXMK X 2L 10,000,000 504 & 50,000
OATHE2=EIIBAIE HHIAIY 200,000
=2l H #=2lAlEd X 22ld X 80,000 45,000 35,000
= 20,000
= 60,000
307 2Iz2t0| & 80,000 0 80,000
= 20,000
= 60,000
02 It A X2 80,000 0 80,000
O=zxclH #=clAlE X228 XN&
80,000,000& = 14! 80,000
= 20,000
= 60,000
2| AlIE I E 5= 499,000 500,000 A 1,000
2 400,000
o 30,000
= 69,000
401 AlEHIZL 2 0HY| 499,000 500,000 A 1,000
2 400,000
= 30,000
= 69,000
01 Al&H| 499,000 500,000 A 1,000
OFOX P AFXNIMES=ALY 312,000
2 250,000
& 19,000
o 43,000
OGN AFXNIMEF=ALH 187,000
2 150,000
== 11,000
= 26,000
SEXNYoHe 6,363,000 4,450,000 1,913,000
2 3,840,000
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X
=13
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SN FH-SA(EN) - MBAY - BES

Off &t 24
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i
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294,
,228,

500
500

Moo

—_

,300,
,610,
207,
483,

000
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3,000,

000

AT00,

000

401 AIEHIZ 2 I

Mo ook

,300
,610

207
483

,000
,000
,000
,000

3,000,

000

AT00,

000

01 A€ HI

©

i
B
0
r

HEBIHAMY AL

2,280,000,000& *1

=]

03 Al & = Ch bl
OSEMHHATUAY ALY

20,000, 000& *1

A

=

A

=

A oo

A oo

,280

,280

1,596

205
478

20

20
14
1
4

,000

,000

,000
,200
,800

,000
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,800
,200

2,980,

20,
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Mook

513
365
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000

A48T,

000
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EX: A4 ns
Ha: sE5 X8
el mEXS Y (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
2 315,000
< 40,500
= 94,500
403 XX SRS K20| & 450,000 0 450,000
2 315,000
& 40,500
= 94,500
02 2J| 2 S 0l CH SHCH & AFR H 450,000 0 450,000
OBLHATHXSE EHAIS 450,000
2 315,000
= 40,500
= 94,500
CEAE 6,943,916 10,171,311 N 3,227,395
= 150,000
= 6,793,916
Eec=R =N | 2,513,016 3,262,411 A T49,395
S 28X 22 83,661 80,976 2,685
201 et d| 44 561 68,076 N23,515
01 AR 22l ] 20,430 19,485 945
O bt 2H| 15,950
OzELE P 2 6,000
OEZotdztm & ordgE 22 5,000
OB 22 ¢ 230,000& »5H 1,150
OsHesdaAHHd 3,800
— SEANSXFLY 900
A3 60,000& 102 A 600
- A 30,000& 108 A 300
— SAJ| Y 1,000,000 «1CH 1,000
—DEH EURA(SY 2et)
250,000 *x2CH *33] 1,500
- EJEE PU(BN,AEZ EX)
100, 000& x4 %= 400
od4< 70,0003 x4H *4 3] 1,120
O3 &l 3,360
O SHHAH(AH]) 7,000 14 30 2,940
Oes&EH(2HH]) 1,000 x 143 30! 420
02 B232ZH4| 24,131 48,591 A 24,460
O =2l 16,071
QUFII, HED , LI (FELSR)
1,980& x10CH =112l B4 x60L 13,068
Or=s=EH(ESR) 1,920 x10H ~462| E{*x34L 3,003
O A& Z&Hl SX bl 5,900
Osg 0lx2 2=cl 150, 000 = 10CH 1,500
OHED| %2l 250,000& 23] 500

_7_




2N
X ZH -
L= B

el

Mo
U Hu iz
30 ¥ K
>4 1z o

el

=]

cl

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OM&&dl =2l 3,500,000& = 1CH 3,500
Ods8d ¥ BHE = 200,000& 23] 400
O322L3LHA 2,160
OZE2248 MRA 442Q3
30,000 *12& 360
OZ2E4+3 AR dIe3
150, 000& =123 1,800
206 = Hl 37,700 11,200 26,500
01 MHZ 4l 37,700 11,200 26,500
OE2RA 2 M2+ 37,700
OQUWlHHI HEY 7L 5,000& *500K 2,500
OMAEXMN(Hat2s, 22 &
,000,000& x2& 16,000
OXEIM(SSE,0bA2 &
000,000& 25 16,000
OEZEHAUE(LXE 22) 7Y
80,000& 40& 3,200
405 TtHatF S 1,400 1,700 A 300
01 AL ESHSH 1,400 1,700 A 300
0EEE4+37 Y 1,400
OuF2II - 500, 000& »2CH 1,000
OJIAE +¢ 400, 0003 = 1CH 400
(=S E=PNRN, 400,000 300,000 100,000
401 AIEHI L 2 CHYI 400,000 300,000 100,000
01 A& HI 400,000 300,000 100,000
OXZ T2 A 0IE2 24(g30l2
2ETZAMAANA) 400,000
tSetzd & Mgz H| 966,000 1,205,000 A 239,000
401 A& HIZ 2018 966,000 1,205,000 A 239,000
01 A& HI 961,000 1,200,000 A 239,000
oftset2 U=z &l 360,000
OXR0tS L EHHI S A 20,000
OAMsOtSALZHHI S A 30,000
O (=Z)0ISTUZEF At 30,000
OZENSAHZLHHISA 20,000
OURANISALZ=HEHI A 20,000
OulE0tS 2 HHI S A 25,000
OLstXN A0t ZEHH S 20,000
oS0t tZ EHI S A 20,000
Ox=S0t=ZFHI S A 30,000
OFSMSUIOIESA S ZEHISA 25,000
O D=t Z EHIAMY 15,000




AL S
2L
2RI (Sl & &)
o
SN FH-SA(EN) - MBAY - BES e HlnE2
OS2 EHHIZA 20,000
OsgitstZ FHI ALY 30,000
Oct 0t et 2 EHI S A 30,000
Os30tSZ EHI S A 25,000
OXHDIS TSI E S A 100,000
ORI EZ ST IA 200,000
OSHMOIES (B MNA )T L2 HHI S A 80,000
O2JI0Sd L =2 S LT T At 200,000
OnNEZ E2LIE WAL &4 21,000
03 A& =2 THHI 5,000 5,000 0
OAIE 2 THHI 5,000
Otttz s X2t 254,650 207,000 47,650
401 AIEHIZL 2 CHEI 254,650 207,000 47,650
01 A& Bl 254,650 207,000 47,650
ottt R X2l 254,650
otttz Xtd = B AH(L=11km)
5,500& «6,300m 34,650
Obtsotd NI 3 AH(L=3.5km)
2,000,000& *110a 220,000
E2 WwEE XA 7,260 6,435 825
101 @14 dl 7,260 6,435 825
04 JIZHHZ2XRHEE S 7,260 6,435 825
Onsg = At 1At 7,260
ool 41,6803 6«21 & 5,252
Oztald| 8,000 «6H 21 A +1 1,008
OAZ BE2 (&M, 08) 1,000
T2 ZXE FY| 70,000 63,000 7,000
401 AIEHIZL 201 70,000 63,000 7,000
01 A& HI 70,000 63,000 7,000
O&E=2 HA® Fl 10,000, 000& *7H 4 70,000
EZ2FH I LIAS 30,000 20,000 10,000
401 AIEHI L 2CHEI 30,000 20,000 10,000
03 AIE 2 THHI 30,000 20,000 10,000
OL=2FHl I gx=z 30,000
MEEZ2-X10095 6 MELZ HE A 330,000 800,000 A 470,000
401 Al HIZ 201 I 330,000 800,000 A 470,000
01 A& HI 330,000 800,000 A 470,000
OMIZT=2-X1009&H XN=L 2 HAAY 330,000
(MR )H=ZY 50,000 50,000 0




FAM: A4S
. T2l
o2l SR (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
403 MtXISHHE =01 & 50,000 50,000 0
02 3|25 0l CHSHCH =& At & HI 50,000 50,000 0
ONYE, 25 &4X2 =&Y 50,000
SR AY 321,445 0 321,445
401 Al HI L2 THYI 321,445 0 321,445
01 A& HI 321,445 0 321,445
OXXI W &S 23 AH(L=32m) 140,667
OMA3W WeE =3 AH(L=30m) 80,778
OFS 1 WEHE+=Z AL 1002 100,000
2EAY 2,533,500 4,441,400 1,907,900
2 ALY 1,110,000 1,010,000 100,000
401 A& BIZ 201 8] 1,110,000 1,010,000 100,000
01 Al Hl 1,100,000 1,000,000 100,000
OZ T At 1,100,000
O 65 (SXNOIS)E2ZE LA I A 200,000
OZE 18 (ISOS) T2 L E S A 200,000
OZE2sd (LE~UHE) T2 XL HZ A 100,000
OZZ456 (S8E) T2HIZEIA 100,000
O USH(FI~EH) T2 HZE S A 100,000
OZZ 1S (ST Z2)TZ2HEISA 200,000
O E556 (ZR0S)EETZ2ME ALY 200,000
03 AIE 2 0H I 10,000 10,000 0
OAIE =2l 10,000
gs~U=2t &2 SFEZEISA 900,000 3,000,000 22,100,000
401 Al BIZ 201 8] 900,000 3,000,000 22,100,000
01 A& HI 900,000 3,000,000 22,100,000
ogas~U=2 T2 EZTHIA 900,000
TR ALY 523,500 431,400 92,100
401 AIEHIZ 28I 523,500 431,400 92,100
01 A& Bl 523,500 431,400 92,100
OZERA A 523,500
O2Z1sd 2 100A X =2 B AH(L=50.0k
m) 5,500& 22,500 M 123,750
O=2&E55d 2 50 JIEY LA X SA
350,000 2853 & 99,750
O2Z165d 2 2 A OFA2IMN I3 AL
=2.5km) 2,000,000& *150a 300,000
SHEZZAY 1,564,500 1,550,000 14,500
SHEZZ AL 1,305,000 1,355,000 A 50,000




AN A4S0
M C2H4
Cel: sHESZ MY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al I 28I 1,305,000 1,355,000 A50,000
01 A& HI 1,300,000 1,350,000 A 50,000
OsHEEZ MY 1,300,000
OEZ~M==(1H202) 2 & L& S A 300,000
O=S0t2(04303) =2 & XL EFH S A 300,000
T20IS (A8 =2 & L& I A 200,000
OCEsOS2(sSdl20) S22 Z & S A 100,000
OHI=20tS(A2I308) =2 & L& S A 100,000
OM=02(5H01101) S 2 Z & 3 A 100,000
OxL-EZ2HotL101) S 2 & L H B A 200,000
03 Al 20 HI 5,000 5,000 0
OAIE S HHI 5,000
SOETR SN2 259,500 195,000 64,500
401 Al Bl 28I 259,500 195,000 64,500
01 A& HI 259,500 195,000 64,500
O=sHEEZ SX2clAtd 259,500
O=sHEZZ(F2t201)2 5MHA S MI AL
(L=20km) 5,500& *9,000m 49,500
O=sHEZZ(0H2101)2 4044 HEH L EX
=\ 350, 000& 2008 2 70,000
O=sHEZZ(HIH01)2 2MHA OtARI M2
JI 3 AH(L=2.0km) 2,000, 000& *70a 140,000
AsXtunszel A 332,900 917,500 A 584,600
& 150,000
[ia 182,900
AEEZ2 AT LA 250,000 500,000 A 250,000
& 125,000
e 125,000
401 Al B2 2B 250,000 500,000 A 250,000
& 125,000
i 125,000
01 A& HI 250,000 500,000 A250,000
OsgEX 7 FIEE2 AT MLAS 250,000
= 125,000
s 125,000
HelolEs Y H 50,000 0 50,000
& 25,000
s 25,000
401 AIEBIZ 28I 50,000 0 50,000
= 25,000
s 25,000
01 A& Hl 50,000 0 50,000
OYLxEEs W HEOESTHIMNL ALY 50,000




FAM: A4S
HM: c2HH
Chelr HSXusS2NS AL (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
& 25,000
s 25,000
HEl 0l M AN Et A ALY 32,900 117,500 A 84,600
401 Al&HI & 28I 32,900 117,500 A 84,600
01 A& HI 32,900 117,500 A 84,600
ONE0IES AL CCTV FHIA
4,700,000 +70H 2 32,900
s N 2,927,275 2,911,134 16,141
< 465,729
= 2,461,546
sy 29 391,887 405,386 A 13,499
< 43,363
s 348,524
sy 299 167,500 262,878 295,378
201 Let24d] 68,600 74,498 25,898
01 At 22/l 1,500 1,500 0
O Et==EH| 1,500
OXMUSHIUEHE £ DN P&
150,000 » 104 Xt 1,500
02 =224l 67,100 72,998 A5,898
0322 & HA 64,100
OHDIEs=U &4+ AIEZ2 800
OZoIEa dot=E AER
100,000& = 12& 1,200
CusdsIles WsSAdsE 813
3,600,000& +x12& 43,200
OUSdSIIS NSAMNEE HIAHEEL ==
=3 71,0003 * 14000 2 9,940
OgA:IBxey HEHSRYN SX fEZ
2703 %10,0000H 2,700
ODEHERD SEZLS M2
2703 =10,0000H 2,700
ONHEDXNAM BtEE 812
1,780& 2,000 3,560
OA &&= Xl 3,000
ORoleEJtMet AIZEH RAE*
3,000, 000 *1CH 3,000
203 YR =2t 1,000 1,000 0
03 A BZFAH S ZAY| 1,000 1,000 0
OLSHZAM =& 10,000& x10H x 103l 1,000
307 gl2tol & 97,900 98,380 A 480
02 BIZHEANEXS 95,200 95,680 A 480
OHA Y S2H X& 40,0002 «190CH =128 91,200
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2N AEDED
Ha: DEYH N
oel: DU 29

SN HH-S(BN) - MBAY - B il HlnE2
2,220
OHANRS IHEZN =2 X& 1,000
= 1,000
OZUHA WS3HE el N 28,600
< 14,300
i 14,300
WSCHEAE S 22l 457,301 A 138,749
HASHUOIA 2t 250,251 A 108,749
101 124 Hl 1,251 1,251
04 JIZHHZ2XNHEE S 1,251 1,251
OEDIE ¥ 2HoItHEs 22l Ly
41,6803 30 1,251
201 £B-2%| 3,000 0
01 At 22l 3,000 0
OMZ (813 )yl 1,000,000 *30H 2 3,000
401 Al Bl 28I 246,000 A 110,000
01 A& HI 246,000 A 110,000
oHAsSHUIIY B+ 1,000,000& *20H A~ 20,000
OHASAHUIIA &7 4
9,000,000& * 144 A 126,000
o202 HasIXz & =XE =4 60,000
OUsnsEAE FHl 40,000
On4H0IE ANIE2 EHl 40,000
OQHEAIE = 22 207,050 A 30,000
401 Al& I 28I 207,050 A 30,000
01 A& HI 207,050 230,000
OusAsI WH(E%) 115,550
Qus&sIl A 30,000,000& * 174 A& 30,000
OLEDE Z D] WAl 2,000,000& * 104 A& 20,000
o32s WA 10,000,000 *20H 2~ 20,000
Onsd3zI FAE= 45,550
—2¥s uiA 230,000 *204 4,600
XSS W (3M4) 350,000& =304 10,500
— XS W (444) 430, 000& 304 12,900
—ZE2XMHII WH 330,000& 54 1,650
— XS 2 dFWA 22,000& »4507H 9,900
—3d2s E= 400,000& 1004 2 4,000
—E&) B 200,000& 1000 2 2,000
OULSHEAE=E ZH £ IHHEM 91,500
OF&EXN=XN7S Xt FH| 30,000
CQuEs=xF9EXE Ful 150, 000 *60H 9,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Cus==95ie# a4 250,000 504 12,500
OFeEcM L =XSK HEA 20,000
OgdeEzas 2 SAHdEH HH|
1,000, 000& *20H A 20,000
HAd 2=&HM X 2,078,087 1,909,698 168,389
< 422,366
s 1,655,721
HA-HEAEMS XA 579,001 580,526 A 1,525
< 172,823
s 406,178
307 gl2tol & 547,265 580,526 A 33,261
< 172,823
[ia 374,442
09 2HAHAEXS 547,265 580,526 N 33,261
OHALE ABHZ 547,265
< 172,823
[ia 374,442
308 XXM SOIA 31,736 0 31,736
05 HXSHHURE S 31,736 0 31,736
OXXIESHH2 S (AFE Al 31,736
2+gd X 1,000,000 950,000 50,000
307 21201 A 1,000,000 950,000 50,000
09 2HAHAEXS 1,000,000 950,000 50,000
ORNEZXZ 950,000
o= & £A8483 50,000
SHEHA HEXRZ 499,086 379,172 119,914
< 249,543
[ 249,543
307 21201 A 499,086 379,172 119,914
< 249,543
[ 249,543
09 2+=HAHEBEXS 499,086 379,172 119,914
OsHEHA MEXNES 499,086
< 249,543
s 249,543
HH2F A 80,706 85,586 A 4,880
Jl2ZH(A&nsu) 80,706 85,586 A 4,880
HY =X ZH 4,200 4,200 0
203 YR =2l 4,200 4,200 0
04 EA2IYRFLH| 4,200 4,200 0
ORNE2Y PRI 350,000& 12& 4,200
22 A| 25,626 30,506 A 4,880




FAM: A4S
=R
¢ J2d(HEnsn)
SA - ZE-B(EA) - NRAY - B S il &t o il
201 L2l 25,626 30,506
01 At 22l 25,226 28,306
O el 22,000
O= &l 3,226
02 3322l 400 2,200
03322 2 HA 400
04 bl 50,880 50,880
202 oddl 50,880 50,880
01 SLHOYI 50,880 50,880
OJ12gE=3 0l 200,000& x16H + 123 38,400
O=W&Z0HI 65,000& 16 x12& 12,480
Nees(A8us) 75,264 75,264
HWEAHAXES (AL E) 75,264 75,264
FUHEEESAH dES 75,264 75,264
701 JIEtSI HNES 75,264 75,264
01 JIEtSI HEES 75,264 75,264
OFXNESEIH HES 75,264




